Cornell Tournament 2004

Packet by Matt Weiner

Tossups

1) One factor that made the explanation of this a popular problem was Louis Bachelier’s attempt to use it as a model for the stock market. It is the basis for a theoretical motor that uses a fixed alternation in ratchet potential. Current theory models it under the Langevin equation, and its original explanation was used to definitively prove the existence of atoms by Jean-Baptiste Perrin and Albert Einstein. It is caused by the random discrepancy among molecular pressures on different portions of the particle. For ten points, name this process of small, random movement in a fluid.

ANSWER: Brownian motion

2) The barony of Ribagorza led the remnants of its aristocracy in a revolt against Phillip II in 1591, but popular support of the royals ended the war and led to the flight of Antonio Perez. It arose as an independent state in 1035, when Ramiro I broke away from Navarre. It incorporated Sobrarbe and Ribagorza and eventually conquered Zaragoza under the rule of Alfonso I. In 1137, it joined with Catalonia and in 1238 it conquered Valencia. Following the Sicilian Vespers, it took control of Sicily and Sardinia, and after a long war added Naples to its holdings. For 10 points, name this name this kingdom which, in 1479, joined Castile through the marriage of Ferdinand to Isabella.

ANSWER: Aragon
3) At one point in this play, an old man asks a servant for help in reaching the battlefield, and the servant later offers to follow behind the man carrying his armor if the weight is too much for him. Macaria offers herself as a sacrifice in order to ensure a victory for the Athenians, who receive allies from negotiations by Hyllos. Iolaos eventually captures Eurystheus, who is condemned to death by Alcmene. In the opening, Demophon and Acamas intervene when the herald Copreus tries to drag Alcmene away from the protection of the altar to Zeus at Marathon. For 10 points, name this Euripides play about the sons and daughters of a guy who cleaned the Augean stables and killed the Hydra.

ANSWER: Heraklidae [or The Children of Hercules; or The Children of Heracles; or equivalents] 

4) Almost all commercial mass flow meters utilize this phenomenon, which gives rise to a term of twice the vector product of the angular and linear momenta in the Reynolds transport theorem. In electrodynamics, an analogy to it is known as the Christoffel voltage. Its influence on the top layer of the ocean may cause the layers below to shift to the side, creating an Ekman spiral. Its magnitude for an object is described as (two nu omega sine theta), in which nu is the velocity of the object, omega is the angular velocity, and theta is the latitude. For 10 points, name this “fictitious” force caused by a rotating reference frame, seen when a projectile is fired on the Earth’s surface.

ANSWER: Coriolis effect/force
5) The Paris model, designed by Jean-Nicholas Savary, is used in France, Spain, and Italy, while the German type, designed by Johann Adam Heckel, is standard elsewhere. Its immediate ancestors include the sordone and the dulcian, and among its variants is the sarrusophone, a version for marching bands. Bernard Garfield, John Campo, Luc Loubry are noted players of this instrument in C, for which Vivaldi composed thirty-nine concerti. It provides the opening solo in The Rite of Spring and is the grandfather in Peter and the Wolf. For 10 points, name this crooked double-reeded woodwind.

ANSWER: Bassoon
6) A later group by this name employed the general Huan Wen, who was victorious at the Battle of Fei River. They ruled from Loyang under the descendants of Ssu-ma Yen and provided one of the “Six Dynasties.” The original group extended the borders to Gansu, Guizhou, and Tonkin from the capital at Xianyang. It originated as a small state in the Wei River valley, ruled by the minister Li Ssu and the young king Chao Cheng. In power, it ended feudalism, burnt nearly all books, and standardized writing and road systems. For 10 points, name this dynasty lasting from 221 to 206 BCE that built the Great Wall.

ANSWER: Chin dynasty

7) Juxtapositions in this novel include the walls of the Mahee garrison and the cleft of the valley and the betrayal of ordinary life by the “oath-takers” as compared to that of Judas and of the novel’s protagonist. That man, literally and politically a hermit, staunchly defends his noninvolvement by exposing the leader of the “forest fighters” after Kihika seeks refuge. In another expression of the betrayal theme, Mumbi cheats on Gikonyo with Karanja. Mumbi then repeats Kihika’s mistake by sharing her secret with Mugo. For 10 points, name this novel set just before Kenyan independence, written by Ngugi wa Thiong’o.

ANSWER: A Grain of Wheat
8) Models for this process include the transition matrix and identity by descent. In species that reproduce asexually, it is caused chiefly by differential morbidity, while sexually reproductive populations also experience it due to randomness in the recombination of chromosomes. Its expected amount is inversely proportional to the size of the population, and it will normally continue acting on a trait until each allele is fixed or lost. For ten points, identify this process which causes bottleneck and founder effects, consisting of the change in gene frequencies over generations by chance rather than selection.

ANSWER: Genetic drift [or genetic sampling error; or Sewall Wright effect]

9) She outwitted Hyndla for the latter’s help in a lineage-reciting contest; as a result, she hides Ottar, a mortal lover, as the war-pig Hildesvini. She can use the skin of a falcon to fly or ride her chariot, pulled by two dark cats. This daughter of Njord mothered Hnossa with Od. She may choose certain warriors from Valhalla to reside instead at her hall, Sessrumnir. She did something disgusting with Grerr, Dvalin, Alfrigg, and Berling in order to obtain Brisingamen, her emblematic necklace. For 10 points, name this Vanir who oversaw flowers, crops, music, spring, fertility, and love.

ANSWER: Freya [do not accept or prompt on Freyr or Frey or Frigg or Frigga or any other wrong answers]
10) Typical works include Mechano-Dancer by Vilmos Huszár and the Daal en Berg Houses by Jan Wils. Its architectural achievements include the cabinets and Schroeder House of Gerrit Reitveld and the Worker’s Housing Estate designed by J.J. Pieter Oud. Its exponents wrote that it came about because the new “consciousness of the age…is directed towards the universal.” Its namesake journal and explained that the only acceptable painting consists of gray, black, white, red, yellow, and blue in basic, perpendicular shapes, and was edited by Theo van Doesburg. For 10 points, name this art movement led by Piet Mondrian.

ANSWER: De Stijl [or The Style; or Neo-Plasticism]

11) During World War I he wrote the depressing “Anguish,” but in the 1920s he changed tone in “The Eternal Smile,” Guest of Reality, and “The Triumph over Life.” His manifesto on radical literature, “Literary and Pictorial Art,” was exemplified by his play cycle “The Difficult Hour.” He condemned Fascism in “The Man Without a Soul” and addressed broader examples of inhumanity in The Hangman and “Let Man Live.” He is likely most known for two novels, one about a man who rejects his criminal companions after being pardoned and another about a servant at an Italian court. For 10 points, name this Swedish author of Barabbas and The Dwarf.

ANSWER: Pär Fabian Lagerkvist
12) It has four named members, including the ki star Adhil. On one side of the V shape that defines part of it are the multiple-star systems Amlach and Mirach. Its upsilon star has several planets, and its alpha star is the spectroscopic binary Alpheratz. Bordered by Lacerta and Triangulum, its most notable feature might be Messier object M31, a member of the Local Group. For ten points, name this constellation, which contains a namesake object that is both the most distant thing visible to the naked eye and the nearest known spiral galaxy.

ANSWER: Andromeda

13) It uses both a syllabary and many logograms, including animal signs which indicate the sex of the animal with horizontal lines. Because only syllables ending in vowels exist in this system, translators found it necessary to remove vowels in words known to represent place names. The assignment of the resultant sound values to other words proved to be the key to proving it the earliest recorded ancestor of modern European languages. For 10 points, name this language used mostly for recordkeeping, deciphered by John Chadwick and Michael Ventris, and comprising a proto-Greek system used on Crete.

ANSWER: Linear B
14) Participants included Geoffrey of Villehardouin, who chronicled it, and Thomas Morosini, whom it installed as patriarch. It was preached by Fulk of Neuilly and led by Boniface of Montferrat after the death of Thibaut III of Champagne. It resulted in the deposition of Alexius V and the coronation of Baldwin I as the first ruler of the Latin Dynasty, with the former rulers exiled to Nicaea. Its true mission became apparent when payment for transport was not forthcoming, and Enrico Dandolo suggested sacking Zara instead. For 10 points, name this 1202 to 1204 crusade which consisted mostly of the Venetian-led sack of Constantinople.

ANSWER: Fourth Crusade

15) Unnamed characters in this poem include a woman who spends her days “in ignorant good-will” and “her nights in argument/Until her voice grew shrill.” The poet regrets giving “polite meaningless words” to the heroes and thinking that one was “A drunken, vainglorious lout.” It questions whether the people who are being “changed utterly” “Minute by minute” have suffered a  “needless death.” Ultimately, it concludes in three places that “a terrible beauty is born” from the actions of “MacDonagh and MacBride/And Connolly and Pearse.” For 10 points, name this poem about an anti-British revolt in Dublin, written by W.B. Yeats.
ANSWER: Easter 1916

16) In the emulsion method for this type of process, sodium stearate or another surfactant is used along with a catalyst that is water-soluble, and the temperature of the medium determines the degree of branching in the product. In one version, the resultant tacticity can be specified by using a Ziegler-Natta catalyst. All methods for this process are divided into two kinds, chain-growth or addition and step-growth or condensation. For ten points, name this general process by which monomers join to form very large molecules.

ANSWER: Polymerization

17) The first time it was captured, it caused a plague and mutilated a statue at Azotus. After it brought doom to Gath and Accaron, it was returned to Bethsames, where at least fifty men were killed for looking at it. It was then stored in Cariathiarim under the care of Eleazar. Perhaps taking its form from the Egyptian naos, it was built by Beseleel and used to dry the Jordan River before being installed at Bethel or Shiloh, where it held a quantity of manna and the rod of Aaron. For 10 points, name this container, made of gilded setim wood and adorned with a seat and two golden statues of cherubim, which originally held the divine presence and the Ten Commandments.

ANSWER: Ark of the covenant [or clear equivalents; or aron; prompt on tabernacle; prompt on mishkan]

18) Precedent regarding this was challenged twice in the last decade, but both Holloman v. Walker County and Lane v. Owens ended with no reversal of precedent at the circuit court level. One part of it was upheld in Sherman v. School District 21, the case later challenged as a conflict among circuits by Elk Grove v. Newdow. Its compulsory use was upheld in Minersville v. Gobitis but overturned three years later when challenged by Jehovah’s Witnesses in West Virginia v Barnette. For 10 points, identify this passage which had two words added to it in 1954, sixty-two years after being written by Francis Bellamy without any reference to God.

ANSWER: the Pledge of Allegiance [accept equivalents; prompt on “under God” before “part of it” is read]

19) His long-term political career was hampered by his statement that the Nuremberg trials were “a blot on the American record which we shall long regret.” He remains the last person ever eliminated from a major party’s nomination race by a multiple-ballot poll of convention delegates. After World War II, he enlisted the support of Herbert Hoover to advocate “fortress America” and the “principle of the free hand,” but his loss of the Presidential nomination at the 1952 convention was considered the deathknell of isolationism. For 10 points, name this Ohio senator, known as “Mr. Republican,” who joined with New Jersey Representative Fred Hartley to draft a labor relations bill.

ANSWER: Robert Alphonso Taft

20) The decision to depart comes when three Happar skulls are found on the floor and Marheyo learns the words “mother” and “home.” Auxiliary characters in this novel include the wanderer Marnoo and the chief Mehevi. The protagonist falls in love Fayaway and acquires the valet Kory-Kory, but eventually must make the climactic decision is to stab Mow-mow. The two main characters abandon the Dolly on Nukahiva and seek Happy Valley, where they find the title “noble savages,” and enjoy a pleasant life until the issue of cannibalism comes to the surface . For ten points, name this novel about Tommo and Toby, the prequel to Omoo by Herman Melville.

ANSWER: Typee: A Peep at Polynesian Life [or Narrative of a Four Months Residence among the Natives of a Valley of the Marquesas Islands]
21) One of these features, the Surduc, carries the Jiu River from the Plain of Oltenia to the Petrosani Depression in Romania. North American examples include the Crowsnest, Rogers, Yellowhead, and Donner. The Maddalena one was used by Hannibal, and the Stelvio, Tenda, and Brenner are others in the same region. Examples in the area where they are perhaps most prominent include the Gumul, Bolan, and Banihal, which forms the main southerly route to the Vale of Kashmir. For ten points, name these features of mountainous areas which include the strategic route from Peshawar to Kabul, the Khyber.

ANSWER: Mountain passes

Bonus

1) In the spirit of the protests over Shark Tale, perpetuate horribly accurate Italian stereotypes by naming these gangsters for 10 points each.

[10] Boss of the Chicago syndicate from 1957 to 1966, this man, known as “Momo,” plotted to kill Desi Arnaz and Fidel Castro and was accused of involvement in the deaths of Marilyn Monroe and John F. Kennedy.

ANSWER: Salvatore “Sam” Giancana
[10] He controlled the ports of New York for twenty years through corrupt unions. He was “boss of bosses” from 1957 to 1976, and several aspects of his personality, such as his habit of venturing unguarded to fruit stands, were used in The Godfather. 

ANSWER: Carlo Gambino

[10] He became head of the mob by allying with Meyer Lansky and killing Salvatore Maranzano. In 1935, Thomas Dewey pinned a thirty-year sentence on him, which was commuted to deportation to Italy after he aided port security during World War II.

ANSWER: Charles “Lucky” Luciano [or Salvatore Luciana]

2) Answer the following about Japanese literature for the stated points.

[10] For 10, this example of zuihitsu is divided into sections such as “Amusing Things,” “Vexatious Things,” “Things That Seem Near Though Distant,” and “Things That Cannot be Compared.”

ANSWER: The Pillow Book [or Makura No Soshi]
[5] For 5, this daughter of poet Kiyohara Motosuke and member of the court of Sadako wrote The Pillow Book.

ANSWER: Sei Shonagon

[15] For 15, this “Japanese Iliad” discusses the titular family’s battle with the Genji and focuses on the exploits of Minamoto Yoshitsune through the Battle of Dannoura.

ANSWER: The Tale of Heike [or Heike Monogatari]

3) Answer the following about an elusive physical phenomenon for 10 points per part.

[10] This hypothetical particle, essential to many grand unification theories, would carry an analogy to net electric charge.

ANSWER: Magnetic monopole

[10] The existence of any magnetic monopole in the universe implies the quantization of charge because of this quantum effect, under which nonlocal fields affect particles.

ANSWER: Aharonov-Bohm effect

[10] The relationship between monopoles and the quantization of charge was proposed by this man, whose namesake strings provide the means by which the relationship works.  His namesake equation predicts antimatter.

ANSWER: Paul Adrien Maurice Dirac
4) Name these members of the Andrew Jackson cabinet for 10 points each.

[10] This former senator from Tennessee was Secretary of War from 1829 to 1831, when he resigned due to the “Petticoat Affair” involving accusations that he did not respect the first marriage of his wife Peggy O’Neill.

ANSWER: John Henry Eaton

[10] This governor and senator from New Hampshire became Secretary of the Navy after the Eaton resignations and was later Treasury secretary, in which role he helped Jackson oppose the Bank of the United States and issued the Specie Circular.

ANSWER: Levi Woodbury

[10] Woodbury became Treasury secretary after the Senate rejected the nomination of this man, whom Jackson then appointed Chief Justice of the Supreme Court. In that role, he wrote the majority opinions in Charles River Bridge and Dred Scott.

ANSWER: Roger Brooke Taney

5) Name these works of Samuel Beckett for 10 points each.

[10] In this dramatic monologue, Rene Descartes drops philosophical musings while waiting for an omelet.

ANSWER: Whoroscope
[10] In this play, Vladimir and Estragon apparently waste Matt Weiner’s time.  How dare they keep him around for two acts when he has to get home, eat three Big Macs, and try to beat his own scoring record on Pitfall?  

ANSWER: Waiting for Godot
[10] This novel, the last in the trilogy starting with Molloy and Malone Dies, begins with the line “Where now? Who now? When now?” and asks where the voice of a writer originates.

ANSWER: The Unnamable [or L’innommable]

6) Name these German states from cities within for 10 points each.

[10] Munich, Augsburg, Wurzburg, Regensburg

ANSWER: Bavaria (Bayern)
[10] Dresden, Chemnitz, Leipzig

ANSWER: Saxony (Sachsen)
[10] Kassel, Wiesbaden, Frankfurt-am-Main

ANSWER: Hesse
7) Name these things from hydrogen-line spectroscopy for 10 points each.

[10] These lines arise from transitions upward from the second energy level. Their wavelength is defined by the equation “one over lambda equals R times the difference between one fourth and one over n squared.” 

ANSWER: Balmer series [or Balmer lines or equivalents]

[10] The “R” in the equation for the Balmer lines represents this constant, which arises from the reduced mass of the proton and electron and is equal to 1.097 times ten to the seventh inverse-meters. 

ANSWER: Rydberg constant

[10] Changing the “one fourth” term in the equation for the Balmer series to “one half” defines this series, which is contained within the ultraviolet part of the spectrum.

ANSWER: Lyman series

8) Answer the following about an author and his works for 10 points per part.

[10] Running from “I Begin a Pilgrimmage” to “I Say Good-Bye To La Misère,” this novel discusses the author’s imprisonment at La Ferte-Mace for associating with critics of World War I.

ANSWER: The Enormous Room
[10] The Enormous Room was written by this lowercase-named author of him, One Over Twenty, and Tulips and Chimneys.
ANSWER: edward estlin cummings

[10] This cummings poem discusses “spring when the world is mud” and concludes when the “balloonMan whistles/far/and/wee.”

ANSWER: in Just-

9) Answer the following about treasonous plots in Britain for 10 points each.

[10] In this 1605 plot, Robert Catesby, Thomas Winter, Thomas Percy, John Wright, and Guy Fawkes tried to exact revenge on Parliament and James I for slighting Catholics.

ANSWER: Gunpowder Plot

[10] In this 1683 plot, William Russell, Algernon Sidney, Thomas Armstrong, and Arthur Capel, the Earl of Essex tried to exact revenge on Charles II for favoring Catholics.

ANSWER: Rye House Plot

[5/5] For five points each, name any two members of the Cambridge Five, a group of World War II British spies who passed information to Stalin.

ANSWER: Kim Philby, Donald Maclean, Guy Burgess, Anthony Blunt, and John Cairncross
10) Answer the following about a Danish philosopher for 10 points per part.

[10] This author of Concluding Unscientific Postscript, Stages on Life’s Way, and Sickness unto Death is considered the founder of existentialism.

ANSWER: Søren Aabye Kierkegaard [or Johannes de Silentio; or Victor Eremita; or William Afham; or Frater Taciturnus; or Constantin Constantius; or Vigilius Haufniensis; or Nicolaus Notabene; or A.B.C.D E.F. Godthaab; or A.B.C.D.E.F. Rosenblad; or Inter et Inter; or Procul; or Captain Scipio; or Victor Eremita; or Judge William; or A.F.; or Hilarius Bookbinder; or Johannes Climacus; or H.H.; or Anti-Climacus; prompt on A; prompt on B]

[10] This work offers the choice between an aesthetic and an ethical view of life, and stresses the importance of making a responsible choice between the two.

ANSWER:  Either/ Or: A Fragment of Life [Enten-Eller: et-livs fragment]

[10] This work sets out the idea that any logical proof of freedom is doomed to failure. Instead, the evidence for free will lies in the psychological state that is the root of sin.

ANSWER: The Concept of Dread [or The Concept of Angst; or Begrebet Anges]

11) Name these paintings of Francisco Goya for 10 points each.

[10] This unflatteringly realistic royal portrait shows the king with a blue sash, while the Prince of Asturias dominates the left foreground and the queen stands at the center in a white dress.

ANSWER: Charles IV and Family [or La Familia de Carlos IV; accept equivalents to either]

[10] Based on the Rokeby Venus of Titian, this work shows a reclining woman in a white dress and pink cummerbund, opening a yellow jacket by pulling her hands behind her head.

ANSWER: The Clothed Maja [or La Maja Vestida; accept equivalents to either]

[10] This painting shows anonymous Napoleonic soldiers executing some ugly peasants. A gigantic lantern provides symbolic lighting.

ANSWER: The Third of May, 1808 [or El tres de mayo de 1808; accept equivalents to either]

12) Give these terms from neuron anatomy for 10 points each.

[10] Each neuron has a tree of about a thousand of these structures, which receive neurotransmitters from neighboring neurons.

ANSWER: Dendrite
[10] These specialized neurons are of an unusually large size and carry signals out from the cerebellum.

ANSWER: Purkinje cells

[10] This structure at the end of each axon stores neurotransmitters until it receives an action potential.

ANSWER: Terminal button [or presynaptic button]
13) Name these Goethe novels for 10 points each.

[10] This late novel discusses the marriage of Edward and Charlotte, which is disrupted by better matches with the personalities of the Captain and Otilia.

ANSWER: The Elective Affinities [or Die Wahlverwandtschaften]

[10] This sequel to a work about apprenticeship argues for specialized education through its plot about emigration to America and uses the image of a combined destination and journey to discuss growth in life.

ANSWER: Wilhelm Meister’s Travels [or Wilhelm Meisters Wanderjahre]

[10] This emofied novella follows a man who resists his urge to nail Lotte by borrowing pistols from Lotte’s betrothed Albert and shooting himself.

ANSWER: The Sorrows of Young Werther [or Die Leiden Des Jungen Werthers]

14) Name these historical native groups from Mexico for 10 points each.

[10] Tikal, Bonampak, Chichén Itzá, and Uxmal were important cities of this Yucutan group, which arose around 250 BCE and ruled until a mysterious abandonment of their cities around 900 CE.

ANSWER: Mayans

[10] Their capital was at Tilantongo. They overran the city of Monte Albán before being conquered by the Aztecs under Auitzotl and then by Pedro de Alvarado’s Spanish troops.

ANSWER: Mixtecs

[10] This group of people sacked Teotihuacán around 900 AD under the leadership of Mixcoátl.  Their later leader, Topiltzin, introduced the cult of Quetzalcoátl.

ANSWER: Toltecs
15) Show that you are familiar with key players in the upcoming bungling of the election by naming these Florida counties for 10 points each.

[10] In an August 2004 primary, Theresa LePore, who designed the “butterfly ballot” of 2000, lost her post as elections supervisor in this county to a man whose name is synonymous with “properly counting things,” Arthur Anderson.

ANSWER: Palm Beach
[10] In this county, the state’s most populous, voters will not be able to elect the current mayor of the county’s central city, Alex Penelas, to the Senate, as he lost the primary to Betty Castor.

ANSWER: Miami-Dade
[10] This county was the start of Castor’s political career and surrounds the city of Tampa. Its Elections Supervisor, Buddy Johnson, is a friend of Jeb Bush and has already been criticized for a delay in mailing absentee ballots.

ANSWER: Hillsborough
16) Name these ancient sculptures for 10 points each.

[10] Probably by Leochares (LEE oh KARR eez), this work, which survives in Roman copies, shows the god with a cloak wrapped around his outstretched left arm. The pose inspired many imitators, such as in the Commodore Keppel of Joshua Reynolds.

ANSWER: Apollo Belvedere
[10] In this Polyclitus statue, the namesake object is missing from the subject’s left hand. It was created to accompany the sculptor’s Canon, a manual on proportion in sculpture.

ANSWER: Spear Carrier [or equivalents; or Doryphorus]

[10] This Wonder of the World, created by Phidias in gold and ivory, shows the subject sitting on a throne and holding Nike, a scepter, and an eagle. 

ANSWER: Zeus at Olympia [prompt on partial answer]

17) Answer the following about the consequences of a monopoly market for 10 points per part.

[10] Because price is completely independent of quantity, this curve is rendered trivial.

ANSWER: Supply curve

[10] A monopolistic market is a necessary condition for this phenomenon, along with barriers to resale and the division of buyers into distinct groups. In a monopoly, it causes output, profit, and allocative efficiency to rise.

ANSWER: Price discrimination
[10] Actual costs are often higher than their most efficient level at any output in a monopoly, because of a lack of competitive pressure. Thus, only in a monopolistic market can this gap between actual and minimum average total cost occur.

ANSWER: X-inefficiency

18) Name these French-language poets from the turn of the twentieth century for 10 points each.

[10] This author of Fêtes galantes and Songs Without Words shot various things into Arthur Rimbaud.

ANSWER: Paul-Marie Verlaine

[10] This playwright of “The Intruder” and “The Blind” is probably best known for “Pelléas et Mélisande” and “The Blue Bird.”

ANSWER: Maurice Polydore-Marie-Bernard, Comte Maeterlinck
[10] Buddhism and Schopenhauer were among the influences of this poet of “Les Complaintes,” “The Imitation of Our Lady the Moon,” and “The Fairy Council.” His favorite images included Sunday, the wind, and the traditional Pierrot character.

ANSWER: Jules Laforgue

19) Name some heroes of Roman legend for 10 points each.

[10] This son of Mars and Rhea Silvia was adopted by Faustulus and Acca Larentia. His “laudable” achievements include killing his twin brother for jumping over a wall and abducting a bunch of Sabine women.

ANSWER: Romulus

[10] This legendary ancestor of a noble Roman family convinced the Etruscan king Lars Porsena to end a siege of Rome by burning his right hand off.

ANSWER: Gaius Mucius Scaevola [accept Scaevola]

[10] A statue on the Via Sacra depicts this maiden, who volunteered to return to the Etruscan camp as a treaty hostage shortly after leading other captives to safety.

ANSWER: Cloelia

20) Name these leaders of Pakistan for ten points each.

[10] This prime minister served from 1988 to 1990 and 1993 to 1996 as the leader of the Pakistan People's Party, and served much house arrest prior to those stints.

ANSWER: Benazir Bhutto
[10] An outspoken proponent of partition and the former leader of the Muslim League, this man served as the first governor-general and is considered the founder of Pakistan.

ANSWER: Muhammad Ali Jinnah
[10] The father of Benazir Bhutto and founder of the Pakistani People's Party, he served as PM from 1971 until his overthrow and beheading by the military in 1977.

ANSWER: Zulfikar Ali Bhutto
